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e ) &5t Ciz) =P N=RE S AOEER E3xRHE g e LT BEm™ =41 ] Zi™ E&Hm Freanil =2 EE™ xOh B (BLEESE)
e EERTE R
BRAREL | & (km) | BRERER | & (km) | BBHREK | IR (km) | BRHREL | IER (km) | BREREN | TR (km) | BRERER | EE& (km) | BE#REK | IER (km) | BRHREL | IER (km) | BREREN | & (km) | BRERER | I (km) | BR#R%K | ZER km) | BREREL | EE& (km) | BRERER | & (km) | BBEREK | IR (km) | B&#R%K | EE&K (km)
EEEBEEY 3| 289.2 3| 289.2
HRPREHESE 1 21.6 1 21.6
SXREBEEE (ERSIER) 1 9.8 1 9.8
g [—HREE (GEEXMHE) 5 277.9 5 277.9
:1%1 —REE (EERMESN) 13| 710.6 13 | 666.9 3| 437
% T EhE 49 | 607.6 45 | 4525 16 | 155.1
At |—fpeE 54 | 200. 1 39 | 144.5 22 | 55.6
HETHE 74| 955 40| 383 17|  39.4 5 9.9 1 0.4 5 3.3 1 1.0 2 0.8 1 0.8 2 1.6
B& 8 18 B 8 15.1 8 15. 1
a5t 206 | 2,227.4 3| 289.2 1 21.6 6| 287.7| 971,239 81| 2027 17|  39.4 5 9.9 1 0.4 5 3.3 1 1.0 2 0.8 1 0.8 2 1.6 8 15. 1
EEEBEEY 3| 289.2 3| 289.2
BERREBEE 1 21.6 1 21.6
ERBEEBEEE (ERSER) 1 9.8 1 9.8
%ﬁ —BEE (EERM) 5| 265.7 5| 2657
Esi% —fEEE (EERMN) 11| 405.8 11| 403.8 1 2.0
ig’z T B E 20 | 140.8 12 90.4| 12| 504
E —fRIE 16| 220 9 8.6 8| 13.4
HETHE 46 | 47.3 25 | 16.4 13| 26.2 4 3.4 2 0.5 2 0.8
BRI 71 103 7 0.3
5t 108 | 1,212.5] 3| 289.2 1 21.6 6| 275.5| 32| 502.8| 46| 822 13| 26.2 4 3.4 2 0.5 2 0.8 7 0.3
—fiEE (FEEXME) 2 8.1 2 8.1
o |—BEE (EERMN 7| 2077 6| 256.0 3| 417
% T EhE 29 | 312.7 28 | 269.5 7| 432
.i:j —fRIE 22 | 107.4 18| 88.0 6| 19.4
% THETHE 17 261 7 7.0 3 9.6 3 6.5 1 0.4 1 1.0 2 1.6
B |pessEms 1 0.6 1 0.6
it 78| 752.6 2 8. 1 52| 6135 23| 111.3 3 9.6 3 6.5 1 0.4 1 1.0 2 1.6 1 0.6
—fEE (FEERXME) 1 4.1 1 4.1
% |—MEE (EEREN) 2| 71 2| 7.1
% T EhE 22 | 154.1 17  92.6 10| 61.5
.‘i; —fRIR 23| 70.7 16 | 47.9 10| 2.8
% RIS 16| 221 g | 14.9 3 3.6 4 2.8 1.0 0.8
B e 2 4.2 2 4.2
5 66 | 262.3 i 4.1 35| 147.6 | 28| 99.2 3 3.6 4 2.8 1.0 0.8 2 4.2
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#4 BOEmEER Y MU — 7 NERFE(1/10)
BARBLDUE R (km) T BRI SR (km, %)
e | wEx R i Bt 5. 5mpll | HEdRE
i HLRRBOI AL R i B 2+ X ] %
JER B 4Lk 4~2 2 i =D A A/B
[N E RN e H ) §EE LIRS B B HE 91.6 91.6 91.6 100. 0
[N RN e H ) L E HEEE B B 114.4 | 114.4 114. 4 100. 0
[ = R NTERTS e H ) L E SRIESE SRR RIIED S 83. 2 72.3 10.9 83. 2 100. 0
AR DY A Z DO AEHE R WP e B E Ll (— Ak ERE30 ) 21.6 21.6 21.6 100. 0
ES sy e H B L E SRIESE S R RIEY YRV 9.8 9.8 9.8 100. 0
B —fxELE (FRE) 2| — M ELE2 7 97.7 39.8 57.9 97.7 100. 0
ESfEe) —iELE (FEE) 30| — X [EE30 5 24. 2 15.9 8.3 24. 2 100. 0
Bk —xEE (F8E) 53| — X [EE53 7 93. 4 14. 3 79. 1 93. 4 100. 0
ESpvEy —f%EE (FFE) 180| — % [EE 1807 46. 0 8.1 37.9 46. 0 100. 0
ESpvE —f%EE (FFE) 3T3|—MRIEE3T3 4.4 4.4 4. 4 100. 0
1o —fxEE (FE5ES) 179|—#%[EE 1795 65. 5 7.3 58. 2 65. 5 100. 0
I —fxERE (FREst) 180| — % [EE 1807 70. 2 5.8 64. 4 70. 2 100. 0
I —fxERE (FREst) 181|—f%[EE 1815 55. 7 55. 7 55. 7 100. 0
I —fxERE (FREst) 182 —fi%[EE 1825 20. 7 20. 7 20. 7 100. 0
I —fxERE (FREst) 17.2 17.2 17. 2 100. 0
250|—fiX[EE 25075
] | 11 77 —fxERE (FREst) 2.0 2.0 2.0 100. 0
I —fxERE (FREst) 313|—Mx[EE3137% 82.9 4.4 78.5 82.9 100. 0
IR —fxERE (FREst) 373|—MRIEE3T3 5 14.0 14.0 14.0 100. 0
I —fixEE (FEES) 3T4|—MR[ELE3T47 42. 5 42.5 42.5 100. 0
7 I —fixEE (FEES) 429|—fx [EE 4295 12. 2 8.5 3.7 12. 2 100.0
s I —fXERE (FREst) 430 —fiX[EE 4305 10. 8 5.8 5.0 10. 8 100. 0
1=} —ixEE (FEES) 484 | — X [EE 4845 12.1 12. 1 12.1 100. 0
IR B H A (NG 17.9 17.9 17.9 100. 0
IR F B T 2.5 2.5 2.5 100. 0
21 ([l |11 V2 S
] | L1 7 FBEHL I 6.8 6.8 6.8 100. 0
IR F- B E 1.9 1.9 1.9 100. 0
22| BB R B
] | 11 77 FEH 5 E 5.7 5.7 5.7 100. 0
I T T E 24| B HUE B R 0.7 0.7 0.7 100. 0
] | 11 77 FEH 27 | | L1 75 HeR 1.9 1.4 0.5 1.9 100. 0
] | 11 77 T EH T 28 | [i] 111 4= 758 0.5 0.5 0.5 100. 0
IR FEH A 32|58 AL 1 LR 33.4 33.4 33.4 100. 0
I FEH T 34| A7 i) H SRR 13.5 1.4 12.1 13.5 100. 0
] | L1 7 FEH 40 | [if] [LI AR 4.9 4.9 4.9 100. 0
] | L1 7 FEH 42 (] | 1145 B 0% 0.6 0.6 0.6 100. 0
] | L1 7 FEH A5 | if] | L F= 7 R 7.5 7.5 7.5 100. 0
I FEH T E SNBSS S 13.8 13.8 13.8 100. 0
IR FEH A 54| B AR 0.8 0.8 0.8 100. 0
I FEH 60 | B A [ 1.3 1.3 1.3 100. 0
] | L1 7 T EH A 61 |4k R A EE AR 11.8 11.8 11.8 100. 0
I T EH 62 | £ B 1@ H AR 3.0 3.0 3.0 100. 0




EXAlEEE Ry N U — 27 NERE (2/10)

X B
5\ puna)
v O

EHE

FEARBLDUIER: (km)

TE AR SR DL (km, %)

(Bis ) SRR £ e 5. bmblL | BHKEE
i HLRRBOI AL R i B 2+ X ] %
JER B 4Lk 4~2 2 i =D A A/B
fit] | L1 7 FEH 7 1E 72| | L7 SR 7.5 7.1 0. 4 7.5 100. 0
I F M7 0.6 0.6 0.6 100. 0
73| m AR
] 111 T F B H 7 1.3 1.0 0.3 1.3 100. 0
] 111 T F B H 7 76 |¥att =Ffr 0.2 0.2 0.2 100. 0
I F B H 7 1.0 1.0 1.0 100. 0
96 | it [ LI 7R

] 111 T F B H 7 1.7 1.7 1.7 100. 0
] 111 77 —fix R 162/ [t |11 8 ok 2.0 2.0 2.0 100. 0
] 111 77 —fix R 177 | JUE H B 0.5 0.5 0.5 100. 0
I —fix R 181 [Fn5if5 B 0.1 0.1 0.1 100. 0
I —fix R 196 | 151 245 H5 0 0.4 0.4 0.4 100. 0
] 111 77 — i Rl 236 i B H #R 1.6 1.5 0.1 1.6 100. 0
] |11 77 — % R 242| NN iR 5.5 5.5 5.5 100. 0
I — i Bl 274 |1 H EAAHR 1.5 1.4 0.1 1.5 100. 0
I — i Bl 275 | i 18 [ R 1.4 1.4 1.4 100. 0
o) — % R 338| Mt LR 0.2 0.2 0.2 100. 0
I — % RaE 345| - BREF A H AR 0.9 0.9 0.9 100. 0
] | 11 77 — i Bl 386 | {5 ST B R 1.4 1.4 1.4 100. 0
I —fix Bl 389 i i AL 2.4 2.0 0.2 0.2 2.2 91.7
if] 1 L1 7 —fix Bl 389 i i AL sk 0. 4 0. 4 0.4 100. 0
1R it] 1 L1 7 —fix Bl 400| £ 25 = #R 0. 4 0. 4 0.4 100. 0
it] 1 L1 7 —fix Bl 402/ J5 2 I 2 BT 1.6 1.6 1.6 100. 0
I — i Bl 419| B Lh R 0.5 0.5 0.5 100. 0
IR —fix SRl 466 | FH HBT IR 1.2 1.2 1.2 100. 0
] | L1 7 [LUERBE! AR LIRS AR 5.6 5.6 5.6 100. 0
] | L1 7 [LUERBE! SR AT R 1.0 1.0 1.0 100. 0
] | L1 7 ALUESBE] 3 R Ve T e AT 0.5 0.5 0.5 100. 0
] | L1 7 [LUERBE! 2 BT 1358 0.2 0.2 0.2 100. 0
] | L1 7 [LOENBE! e 7 T 1.0 1.0 1.0 100. 0
] | L1 7 NLUESBE] I MTEROCHT2 0.5 0.5 0.5 100. 0
] | 11 77 [ELOENBE! BRITHT 1651 0. 4 0. 4 0. 4 100. 0
] | L1 7 [ELOENBE! T 45-H3 0.3 0.3 0.3 100. 0
] | L1 7 NLUESBE] I MTEROCHT 1 7 0.5 0.2 0.3 0.5 100. 0
] | L1 7 ET A BROCHT T~ 7 HH% 0.6 0.6 0.6 100. 0
] | L1 7 ET A AT & HT2T H AR 0.8 0.8 0.8 100. 0
] | L1 7 T ET A P81 566 75 0.6 0.6 0.6 100. 0
] | L1 7 ET A FON39 5 0.5 0.5 0.5 100. 0
] | L1 7 ET A 162757 0.3 0.3 0.3 100. 0
] | L1 7 T ET A T[] 0.9 0.9 0.9 100. 0
] | L1 7 [RELUERPL:! PE AL T R 0.1 0.1 0.1 100. 0
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X B
5\ puna)
v O

EHE

FEARBLDUIER: (km)

TE AR SR DL (km, %)

(B 75) A 5 A 5. bmblL | BEKAE
i HLRRBOI AL R i B 2+ X ] %
JER B 4Lk 4~2 2 i =D A A/B

] 111 T [ELUERPI:! Hrif138 547 0.7 0.7 0.7 100. 0
] 111 T RELIERPI! HrF130 5% 0.2 0.2 0.2 100. 0
] 111 T RELIERPI! B 25 587 0.7 0.7 0.7 100. 0
] 111 T ELIERPI! B 36 587 0.1 0.1 0.1 100. 0
] 111 T RELIERPI! + A T PEHT 19558 0.1 0.1 0.1 100. 0
] 111 T ELIERPI! + A T PEHT20 5% 0.3 0.3 0.3 100. 0
] 111 77 ELIERPI! EHT19 58 0.3 0.3 0.3 100. 0
] 111 77 THTARE REOBT 15-H1 0.1 0.1 0.1 100. 0
] 1 11 77 ELIERPI! ENPE HT28 R 0.1 0.1 0.1 100. 0
=8 4r ELIERPI! B ARHT = 1.4 1.4 1.4 100. 0
=341 RELIERPI! = M R FEE LSRR 2.6 2.6 2.6 100. 0
=54 RELIERPI! = TRV @ 2 5 2.0 2.0 2.0 100. 0
=54 ELIERPT:! = TRV @ 3 1.6 1.6 1.6 100. 0
=54l RELIERPI! = TRV @A i 3.0 3.0 3.0 100. 0
=54 RELIERPI! = T RV 085 2.4 2.4 2.4 100. 0
=54 ELIERPI! = T RV 06 5 0.8 0.8 0.8 100. 0
=54 ELIERPT:! R o e R A 2.4 2.4 2.4 100. 0
A RELIERPT! Y B R 3.6 3.6 3.6 100. 0
1R =54 RELIERPT! HER B AR HT R 0.2 0.2 0.2 100. 0
=54 RELIERPT! A T H AR 3.1 3.1 3.1 100. 0
=54 RELIERPT! I 5 DU 3R 2.8 1.7 1.1 2.8 100. 0
A (AELIEREE] T 17553 0.3 0.3 0.3 100. 0
EEP [LUERBE! GV H R 0.4 0.4 0. 4 100. 0
EEP [LUERBE! FRPERAT2 750 0.1 0.1 0.1 100. 0
EE L [LUERBE! FE LT EUIAN 2.3 2.3 2.3 100. 0
FE LT [LUERBE! ML — "5 % 0.6 0.6 0.6 100. 0
EE L [LUERBE! H1 91261 S8R 0.2 0.2 0.2 100. 0
EE LT [LOENBE! 345 0.3 0.3 0.3 100. 0
SR [ELOENBE! e G ACHT R 0.5 0.5 0.5 100. 0
SR [ELOENBE! JAR J2 /N B B Bl e 0.3 0.3 0.3 100. 0
I NSNS K VR R RE B (K 5 1 X) 1.8 0.6 1.2 1.8 100. 0
I NSNS K PSR HSIE RS (R HHLIX) 5.6 3.8 1.8 5.6 100. 0
I NSNS FHFRERE RS (P X) 0.2 0.2 0.2 100. 0
I NSNS FHFRERE RS (H HaX) 0.6 0.6 0.6 100. 0
I NSNS [i] | LI P il R B (e e LX) 0.7 0. 4 0.3 0.7 100. 0
I NSNS [ | LI SRR T B (@ & LX) 0.5 0.1 0.4 0.5 100. 0
I NSNS FHFPRERE RS (X)) 0.9 0.9 0.9 100. 0
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AR DUER: (km) T B R, (km, %)
A =t s
*ég; i SRR 5. smUlL | BE&AE
B R HR BRI AE R o B 75 A X ] %
ER B 40k 4~ 2 2 K= A A/B
T AAE S | B E B EEE 289. 2 278. 3 10.9 289. 2 100.0
AN EE | OMmAEHE K 21. 6 21. 6 21.6 100. 0
e H B L[ E 9.8 9.8 9.8 100. 0
[E A
—%EE (FBE) 265. 7 78. 1 187. 6 265. 7 100. 0
JI=N 403. 8 31. 8 372. 0 403. 8 100. 0
—%EE (FRES)
e 1L 2.0 2.0 2.0 100. 0
1R JI=H 90. 4 9.5 80.9 90. 4 100. 0
T 5 E
] 111 T 50. 4 31. 0 19. 4 50. 4 100. 0
JIo8 8.6 6.2 2.2 0.2 8.4 97.7
— % IRaE
] 111 T 13.4 11.4 2.0 13.4 100. 0
ETAS  |THETANE 47.3 43.7 3.6 47.3 100. 0
I8 N SR 10.3 5.8 4.5 10.3 100. 0
1R B AR E KN 1,212.5 519. 4 692. 9 0.2 1,212.3 99. 98
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AZK (6/10)

EHE

FEARBLDUIER: (km)

TE AR SR DL (km, %)

B R HR BRI AE R o B 75 A X ] %
ER B 40k 4~ 2 2 K= A A/B
J2N TEEH A 1.0 0.7 0.3 1.0 100. 0
(RIEET= N
[oi] |11 77 TEHL T E 1.1 0.7 0.4 1.1 100.0
JI=N T 82 | $5 HF A KR 11.5 8.8 2.7 8.8 76. 5
JI=N TEHL O E 1.4 1.4 1.4 100.0
83 | A H- 1 i
[oi] |11 77 TEHL O E 2.7 2.7 2.7 100.0
I8 T 86|EHR A+ X —HE 0.8 0.8 0.8 100.0
1) TEH T E 19.3 19. 3 19. 3 100. 0
96 | [i] [ LI ZRFE AR
[ |11 77 T E 8.3 1.5 6.8 8.3 100.0
I8 — % RaE 118|075 FH ez 3.6 3.6 3.6 100. 0
12} — R B 6.8 6.8 6.8 100. 0
162 [ 1L & #okz
[ |11 77 — R B 4.6 0.4 4.9 4.6 100. 0
JI28 — % RaE 165 | Bk = 5. 5 0.6 0.6 0.6 100. 0
[ |11 77 — B 173| KoTf5H 1.0 0.8 0.2 1.0 100. 0
[ |11 77 — % RaE AVANCEZS=-AD 5.1 5.1 5.1 100. 0
[ |11 77 — % RaE 219 | J5 i SR 2.8 0.3 2.5 2.8 100. 0
I, — % RaE 223 | F i 2 AR AR 3.1 3.1 3.1 100. 0
I, — % RaE 224 WA TE K SRR 0.5 0.5 0.5 100. 0
1) — % IRaE 231 |[Filiy & A 0.7 0.7 0.7 100. 0
1) — % RaE 260|J\K 1L H A # 4.4 4.4 4.4 100. 0
21K I8 — % RaE 261 [ IR &5 K 45 G 0.3 0.3 0.3 100. 0
1) — % RaE 27075 & B4R 4. 8 4.8 4.8 100. 0
I8 — % IRaE 284 | W2 1S 7 # 4.8 4.8 4.8 100. 0
I — B 327 |'& A AR 7.1 7.1 7.1 100. 0
I — B 368|E K FEAAR 0.4 0.4 0.4 100. 0
I — B 394 | I AGE AL 1115 FEIHR 1.8 0.9 0.9 1.8 100. 0
I — B 396 [P H SR 2.0 2.0 2.0 100. 0
I — B 28.6 28. 6 28. 6 100. 0
397 | FE ] A it | L
o] 111 T — B 5.1 5.1 5.1 100. 0
o] 111 T — % RaE 4025 R B BT R 0.8 0.8 0.8 100. 0
12} — W B 408 | BLK D 5.0 4.5 0.5 3.4 68. 0
JI=8 — B 411|FKIBITHR 8.5 8.5 8.5 100. 0
123 — B 428 | B BTG B R R 5.0 2.1 2.9 5.0 100. 0
[oi] 111 T il A E JEE P T g FH AR 0.2 0.2 0.2 100. 0
o] 111 T Tl A E JEE FE AT Ao LR 0.1 0.1 0.1 100. 0
o] (1177 TETA E TH 22 P W] S AR o T 5 2.4 2.4 2.4 100. 0
o] 111 T Tl A E UL ST IT STHE SR IT R 0.7 0.7 0.7 100. 0
o] 111 T Tl A E [N SN N NS I I 0.8 0.8 0.8 100. 0
[oi] 111 T Tl A E FRE T VR 22 P T 1.8 1.8 1.8 100. 0
o] 1 Li T DILIRSBEI KRITHRET . B il 1.0 1.0 1.0 100. 0
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EHE

FEARBLDUIER: (km)

TE AR SR DL (km, %)

< | ) HE A = i 5. SmblL | EBRKEE
B R HR BRI AE R o B 75 A X ] %
ER B 40k 4~2 2 K= A A/ B
V=5 Gll R RE BR AT ek v B AR 8.0 8.0 8.0 100. 0
=5 Qi DILIRSBE SRR VE 15 1.1 1.1 1.1 100. 0
=54l DILIRSBE S Dl 0.5 0.5 0.5 100. 0
AT DILIRSBE HTERAE TR 4.9 0.5 4.4 4.9 100. 0
AT DILIRSBE b 42612 0.4 0.4 0.4 100. 0
21K Al DILIRSBE ) 1 IR 1.2 1.2 1.2 100. 0
A [ T DILIRSBE P11 4320 0.4 0.1 0.3 0.4 100.0
oYt DILIRSBE L AR 1.0 1.0 1.0 100. 0
ARl AT RHE KA EHIRR S A 0.4 0.4 0.4 100. 0
ARl DILIRSBE BN 4 R 1.2 1.2 1.2 100. 0
12} R S TE NS A (ol R I R 0.6 0.6 0.6 100.0
BEARBAIE R (km) 18 BRI (km, %)
gy Je>
1%% i Eb el 5. 5mblb | EB&KER
X435 (S ) " |
B ERR AT e o 2 355 71X ] %
EE B 400 F 4~ 2 2 Kiiti=D A A/ B
T HAE S | Ed E ) EE
KNS |[FomaEHER
e H B L [EE
ESpvE)
—%EE (FBE) 8.1 8.1 8.1 100. 0
I8 256. 0 17.0 229. 7 9.3 246. 7 96. 4
—REE (FEES)
] 1L 41.7 1.1 37.5 3.1 38. 6 92. 6
2UK JI=N 269. 5 19. 4 241. 4 8.7 260. 8 96. 8
EEH S E
] 1L 43. 2 14. 1 29. 1 43. 2 100. 0
I8 88. 0 3.0 84.5 0.5 87.5 99. 4
— % RaE
] 1L 19. 4 2.3 17. 1 19. 4 100. 0
HlTA  [THETAE 26. 1 13.3 12. 8 26. 1 100. 0
I8 R STE NS 0.6 0.6 0.6 100. 0
2R HAI5E 1N E T 752. 6 70. 2 660. 8 21.6 731.0 97. 1
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X B
5\ puna)
v O

EHE

FEARBLDUIER: (km)

TE AR SR DL (km, %)

(fﬂ%f/’]‘) EE%%%%IJ %% Et%;ﬁ}?% 5 . 5 muj: E%E&Ez{i
B R HR BRI AE R o B 75 A X ] %
ER B 40k 4~ 2 2 K= A A/B

[E A —XEE (FBE) 2| — % EE2 5 4.1 4.1 4.1 100. 0
JI2) —ikEE (FEES) 374|— X [EE 3745 (ELEM LB ) 6.5 6.5 6.5 100. 0
I8 —ikEE (e 429 — % IEHE 429 5 0.6 0.6 0.6 100. 0
JI=N FOEH 8|81 7. H i fp 1.3 1.3 1.3 100. 0
1= T L1357 7.2 B 9.0 8.8 0.2 8.8 97.8

o] | L1 T ToEH A 21| ] 1 L I S 13.7 0.4 13.3 13.7 100. 0
I, TEH T E 22| B R B 9.7 2.3 6.9 0.5 9.2 94. 8

[i6] L1 73 T E 22 (B R B 0.1 0.1 0.1 100.0
I8 EEC:S: DB 27| [ 1L 5 R (GEVER] 1118 1) 8.1 8.1 8.1 100. 0

[ |11 77 T E 28| [if] 1L 2258 8.8 0.5 8.3 8.8 100.0

[ |11 77 T E 30|E A AR AR 1.5 0.7 0.8 0.7 46. 7
JI28 T H O E 6.4 6.4 6.4 100. 0

45| ] 1L T B

[ |11 77 T E 7.4 0.2 7.2 7.4 100. 0
I8 T 47 B R e A i 2.0 2.0 2.0 100. 0
I, T E 53| fEIEAE R AR 10. 1 10. 1 10. 1 100. 0
1N FEE 54| B LR 2.5 2.5 2.5 100. 0

[ |11 77 T 61 |k R fEIEE R 13. 4 1.1 11.9 0.4 13.0 97. 0
I8 T 67| 5 i b 4.1 4.1 4.1 100. 0
I8 T 68 [ LN AR 1.1 1.1 1.1 100. 0

3k L) T E 7.0 1.3 5.7 7.0 100. 0
72| [ 1L B

[ [ L1 T T E 10. 6 10. 6 10. 6 100. 0

[ [ L1 T T EHL T E T3|E B iR 0.9 0.3 0.6 0.3 33.3
I TEHL T E T4| B B iR 11.3 9.3 2.0 9.3 82.3
I TEHL T E WAE==0n 1.1 1.1 1.1 100. 0
I T 7.1 1.2 5.9 7.1 100. 0

T R E Ak GEAERM 118 )

[ [ L1 T TEHL T E 2.9 2.9 2.9 100. 0
I TEHL T E 791 A &Rk 4.5 4.5 4.5 100. 0
12} FEH T E 80| E & Rkt 5.1 5.1 5.1 100. 0
12} FEH T E 83 | AR H: 1= ik 2.2 2.2 2.2 100. 0

o] 111 T FEH T E 96 | ] [ L R FE R 2.2 2.2 2.2 100. 0
12} — W B 102| T E1fE AR 1.1 1.1 1.1 100. 0
123 — % RaE 0.2 0.2 0.2 100. 0

152| B Bk B3

o] 111 T — R B 0.4 0.4 0.4 100. 0
L2 — R B 165 | = B iR 2.7 2.6 0.1 2.6 96. 3
JI2) — R B 187 | B S B # 3.1 2.2 0.9 3.1 100.0
JI2) — R B 188 7K =5 R 0.2 0.2 0.2 100.0
JI2) — % RaE 195 | S A1 HEAR 0.5 0.5 0.5 100.0
I} — R B 3.4 3.4 3.4 100.0

217 | i ir B R
o] 1 Li T — B 0.5 0.5 0.5 100. 0
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X B
5\ puna)
v O

EHE

FEARBLDUIER: (km)

TE AR SR DL (km, %)

(Bis ) SRR £ e 5. bmblL | BHKEE
i HLRRBOI AL R i B 2+ X ] %
JER B 4Lk 4~2 2 i =D A A/B
I — kB 3.3 2.9 0.4 2.9 87.9
224 | WEVE KR
] 111 T —fi% IR 0.8 0.8 0.8 100. 0
] 111 T — i Rl 237| A IS SEFEA R 7.1 7.1 7.1 100. 0
] 111 T — i Rl 245 | =4 H AR 2.2 1.7 0.5 1.7 77.3
I — i Rl 253| AT _E LB 6. 4 5.7 0.7 6. 4 100. 0
] | L1 77 — i Rl 267 | i AR AR 0.7 0.7 0.7 100. 0
P —fix R 2.2 2.2 2.2 100. 0
270 [TH & H A

] 111 77 —fix R 3.7 3.7 3.7 100. 0
I —fix R 274 | 1@ H B R 3.9 0.9 3.0 3.9 100. 0
I —fix R 282| i AR 1.3 1.3 1.3 100. 0
] 111 77 — i Rl 383 | LA B LI {5 0 5.0 1.5 3.1 0.4 4.6 92. 0
I — i Bl 398| /K & R AR AR 10. 2 0.6 9.6 10. 2 100. 0
it] 1 L1 7 — i Bl 399|4p: FH LI 2.3 2.3 2.3 100. 0
] | 11 77 — i Bl 400 | 1% ZE [ 0.1 0.1 0.1 100. 0
I — i Bl 403 | BT X7 FHAE [LI#% 1.0 1.0 1.0 100. 0
I — i Bl 405 | (L B2 JE#R 0.8 0.3 0.5 0.3 37.5
I — i Bl A28 | B BOE BR AR AR 5.7 5.7 5.7 100. 0
- IR —fix Bl AT1|FETH 2 YRR 1.9 1.9 1.9 100. 0
[t 1 L1 T ELIERRI: (FHEHT T H &5 5208 7.3 0.9 6. 4 7.3 100. 0
it] 1 L1 7 NELIERPI: RALZHTPE HFA LT B 0.6 0.6 0.6 100. 0
it] 1 L1 7 RELIERPT! [ i ey S I ER 7 0.5 0.5 0.5 100. 0
it] 1 L1 7 RELIERPT! JEE ) T R T 1.7 1.7 1.7 100. 0
] | L1 7 ALUESBE] TR R B 3.7 3.7 3.7 100. 0
] | L1 7 [LUERBE! A1 BART3 5 0.4 0.3 0.1 0.3 75. 0
] | L1 7 [LUERBE! £ BAET N LT R 0.2 0.2 0.2 100. 0
] | L1 7 ALUESBE] AL DO N0 57 0.5 0.5 0.5 100. 0
=848 RELIERPT:! (EREwNISEZY NI B 1.1 1.1 1.1 100. 0
=54 [ELIRRRE FRIN TR 1.2 1.2 1.2 100. 0
=54 NELIERPE: FE S N AR 1.3 1.3 1.3 100. 0
EEP [ELOENBE! - H R R 0.5 0.5 0.5 100. 0
EEP [ELOENBE! T JUFI R 0.7 0.7 0.7 100. 0
EEP NLUESBE] A ZE R 15 0.8 0.8 0.8 100. 0
£l HET A G H R 0.8 0.8 0.8 100. 0
EAE ET A TS FE R 0.8 0.8 0.8 100. 0
I NSNS K EPSERHSIE RS (K EHLIX) 3.7 2.1 1.6 3.7 100. 0
I NSNS FHFPRERE RS (X)) 0.5 0.5 0.5 100. 0
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4 BRAENSERE R Yy N U — 27 NERFE (10/10)
PRI R (km) T R (km, %)
A =t s
*ég; i SRR 5. smUlL | BE&AE
B R HR BRI AE R o B 75 A X ] %
ER B 40k 4~ 2 2 K= A A/B
V8 H A S | e H B EE
AN EE | OMmAEHE K
e H B L[ E
[E A
—%EE (FBE) 4.1 4.1 4.1 100. 0
JI=1 7.1 0.6 6.5 7.1 100. 0
—ikEE (FEEH)
o] |11 T
3K JI=N 92.6 5.9 84.0 2.7 89.9 97. 1
T
i 1L T 61.5 4.4 55.3 1.8 59. 7 97. 1
JIo8 47.9 15.1 31.8 1.0 46.9 97.9
— % IRaE
i 1L T 22.8 1.5 20. 4 0.9 21.9 96. 1
ETAS  |THETANE 22.1 4.0 18.0 0.1 22.0 99.5
I8 N SR 4.9 2.6 1.6 4.9 100. 0
IR B AR E KN 262. 3 34. 1 221. 7 6.5 255. 8 97.5
BEAREAIE R (km) 18 B R (km, %)
=t ot
%‘22; i A 5. smUll | BR&AE
B HRR O A o KL 5 A X ] %
EE B 400k 4~ 2 2 Kiii=D A A/ B
T HAE S | Ed E 8 EE 289. 2 278.3 10.9 289. 2 100. 0
ANUEH |[FOMmARHE R 21.6 21.6 21.6 100. 0
e H B L [EE 9.8 9.8 9.8 100. 0
[E A4
—REE (FBE) 277.9 78. 1 199. 8 277.9 100. 0
JI=A 666. 9 49. 4 608. 2 9.3 657. 6 98. 6
—ixEE (FBES)
1K [oi] | LT 43. 7 3.1 37.5 3.1 40. 6 92.9
2K JI=A 452. 5 34. 8 406. 3 11.4 441. 1 97.5
\ T
3R [oi] | LT 155. 1 49. 5 103. 8 1.8 153.3 98. 8
JI=A 144. 5 24. 3 118.5 1.7 142. 8 98. 8
— B
[oi] | LT 55. 6 15. 2 39.5 0.9 54. 7 98. 4
HETAr  |THETAE 95.5 61.0 34. 4 0.1 95. 4 99.9
I3 GRIE 15. 1 8. 4 6.7 15. 1 100. 0
Xk E K NE 2,227. 4 623.7 | 1,575. 4 28.3 2,199. 1 98.7




